ON THE SOME GENERALIZATION OF INEQUALITIES ASSOCIATED WITH BULLEN, SIMPSON, MIDPOINT AND TRAPEZOID TYPE

Mehmet Zeki Sarikaya

ABSTRACT. The main object of this paper is to present a new inequalities by using of the Hermite-Hadamard inequalities. Later, in some special cases, Bullen, Simpson, Midpoint and Trapezoid type inequalities and many new results related to these inequalities will be given.

2010 Mathematics Subject Classification: 26A09;26D10;26D15.

Keywords: Convex function, Hermite-Hadamard inequalities, Simpson inequality.

1. INTRODUCTION

It is obvious that the theory of inequalities has an important role in the fields of mathematics and engineering applications. In particular, the most important of these inequalities are Hermite-Hadamard inequality, Bullen inequality and Simpson inequality. In addition, many different types of inequalities have been proposed by many authors with the help of convex functions for these inequalities. The most well-known inequalities related to the integral mean of a convex function are the Hermite Hadamard and Bullen inequalities. It gives an estimate from both sides of the mean value of a convex function and also ensure the integrability of convex function. It is also a matter of great interest and one has to note that some of the classical inequalities for means can be obtained from Hadamard's inequality under the utility of peculiar convex functions f. These inequalities for convex functions play a crucial role in analysis and as well as in other areas of pure and applied mathematics. Some of them can be viewed in the references section, [6], [15], [16]. Firstly, we can briefly state these general inequalities as follows.

Let $f : I \subseteq \mathbb{R} \to \mathbb{R}$ be a convex mapping defined on the interval I of real numbers and $a, b \in I$, with a < b. The following double inequality is well known in

the literature as the Hermite-Hadamard inequality [8]:

$$f\left(\frac{a+b}{2}\right) \le \frac{1}{b-a} \int_{a}^{b} f(x) \, dx \le \frac{f(a)+f(b)}{2}.$$
(1)

Given a convex function $f : [a, b] \to \mathbb{R}$, the following inequality is well known in the literature as the Bullen inequality [15]:

$$\frac{2}{b-a}\int_{a}^{b}f(x)\,dx \le f\left(\frac{a+b}{2}\right) + \frac{f(a)+f(b)}{2}$$

Bullen-type inequalities were obtained with the help of the different kinds of convexity of the first-order absolute value function in [2], [3]. Further, Noor et. al generalized the Bullen inequality for h-convex functions in [13].

The following inequality is well known in the literature as Simpson's inequality. Let $f:[a,b] \to \mathbb{R}$ be a four times continuously differentiable mapping on (a,b) and $\|f^{(4)}\|_{\infty} = \sup |f^{(4)}(x)| < \infty$. Then, the following inequality holds:

$$\left|\frac{1}{6}\left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b)\right] - \frac{1}{b-a}\int_{a}^{b}f(x)\,dx\right| \le \frac{1}{2880}\left\|f^{(4)}\right\|_{\infty}(b-a)^{4}.$$

For recent refinements, counterparts, generalizations and new Simpson's type inequalities, see ([1], [5], [9], [10]-[12], [14], [17]-[23]).

Trapezoid and midpoint inequalities are another known inequalities related to the right and left sides of the Hermite-Hadamard inequality. In order to obtain these inequalities, as stated below, identities play an important role.

In [7], Dragomir and Agarwal proved the following results connected with the right part of (1).

Lemma 1. Let $f: I^{\circ} \subseteq \mathbb{R} \to \mathbb{R}$ be a differentiable mapping on I° , $a, b \in I^{\circ}$ (I° is the interior of I) with a < b. If $f' \in L[a, b]$, then the following equality holds:

$$\frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_{a}^{b} f(x) dx = \frac{b-a}{2} \int_{0}^{1} (1-2t) f'(ta + (1-t)b) dt.$$
(2)

Theorem 2. Let $f : I^{\circ} \subseteq \mathbb{R} \to \mathbb{R}$ be a differentiable mapping on I° , $a, b \in I^{\circ}$ with a < b. If |f'| is convex on [a, b], then the following inequality holds:

$$\left|\frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_{a}^{b} f(x) dx\right| \le \frac{(b-a)}{8} \left(\left|f'(a)\right| + \left|f'(b)\right|\right).$$
(3)

In [11], Kirmaci proved the following results connected with the left part of (1). In [11] some inequalities of Hermite-Hadamard type for differentiable convex mappings were proved using the following lemma.

Lemma 3. Let $f: I^{\circ} \subset \mathbb{R} \to \mathbb{R}$, be a differentiable mapping on I° , $a, b \in I^{\circ}$ with a < b. If $f' \in L([a, b])$, then we have

$$\frac{1}{b-a} \int_{a}^{b} f(x)dx - f\left(\frac{a+b}{2}\right)$$
(4)
$$(1-a) \left[\int_{a}^{\frac{1}{2}} f(x)dx - f\left(\frac{a+b}{2}\right) + \int_{a}^{1} f(x-1) f(x-1) f(x-1)dx + \int_{a}^{1} f(x-1)dx + \int_{a}$$

$$= (b-a) \left[\int_0^{\frac{1}{2}} tf'(ta+(1-t)b)dt + \int_{\frac{1}{2}}^1 (t-1) f'(ta+(1-t)b)dt \right].$$

Theorem 4. Let $f : I^{\circ} \subseteq \mathbb{R} \to \mathbb{R}$ be a differentiable mapping on I° , $a, b \in I^{\circ}$ with a < b. If |f'| is convex on [a, b], then we have

$$\left|\frac{1}{b-a} \int_{a}^{b} f(x) dx - f\left(\frac{a+b}{2}\right)\right| \le \frac{(b-a)}{8} \left(\left|f'(a)\right| + \left|f'(b)\right|\right).$$
(5)

The purpose of this paper is established a new inequalities by using of the Hermite-Hadamard inequalities. Later, in some special cases, Bullen, Simpson, midpoint and trapezoid type inequalities and many new results related to these inequalities will be given. Using functions whose first derivatives absolute values are convex, we obtained new Bullen, Simpson, trapezoid and midpoint inequalities that are connected with the celebrated Bullen type.

2. Generalized Bullen type inequalities

In this section, we begin by the following theorem:

Theorem 5. Let $f : I \subseteq \mathbb{R} \to \mathbb{R}$ be a convex function defined on the interval I of real numbers and $a, b \in I$ with a < b, then the following inequalities hold:

$$f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right)$$

$$\leq \frac{1}{x-a} \int_{a}^{x} f(t) dt + \frac{1}{b-x} \int_{x}^{b} f(t) dt$$

$$\leq f(x) + \frac{f(a) + f(b)}{2}$$
(6)

for $x \in [a, b]$.

Proof. We splint interval [a, b] into [a, x] and [x, b]. Since f is a convex function on $[a, x] \subset [a, b]$, by using inequalities (1) we get

$$f\left(\frac{a+x}{2}\right) \le \frac{1}{x-a} \int_{a}^{x} f\left(t\right) dt \le \frac{f\left(a\right) + f\left(x\right)}{2}.$$
(7)

By similar way for $[x, b] \subset [a, b]$, it follows that

$$f\left(\frac{b+x}{2}\right) \le \frac{1}{b-x} \int_{x}^{b} f\left(t\right) dt \le \frac{f\left(b\right) + f\left(x\right)}{2}.$$
(8)

As consequence, by adding (7) and (8) we obtain

$$f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) \le \frac{1}{x-a} \int_{a}^{x} f\left(t\right) dt + \frac{1}{b-x} \int_{x}^{b} f\left(t\right) dt \le f\left(x\right) + \frac{f\left(a\right) + f\left(b\right)}{2}$$

which completes the proof of (1).

Corollary 6. Under assumption of Theorem 5, if we choose $x = \frac{a+b}{2}$, we have the following Bullen type inequalities

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{2} \left[f\left(\frac{3a+b}{4}\right) + f\left(\frac{a+3b}{4}\right) \right]$$

$$\leq \frac{1}{b-a} \int_{a}^{b} f(t) dt \leq \frac{1}{2} \left[f\left(\frac{a+b}{2}\right) + \frac{f(a)+f(b)}{2} \right].$$
(9)

Proof. By convexity of f, we have

$$f\left(\frac{a+b}{2}\right) = f\left(\frac{1}{2}\frac{3a+b}{4} + \frac{1}{2}\frac{a+3b}{4}\right) \le \frac{1}{2}\left[f\left(\frac{3a+b}{4}\right) + f\left(\frac{a+3b}{4}\right)\right]$$

which completes the proof of (9).

Remark 1. In Theorem 5, if we choose x = a or x = b, then the inequalities (6) become the inequalities (1) by using the fact that

$$\lim_{x \to a} \frac{1}{x-a} \int_{a}^{x} f(t)dt = f(a) \quad or \quad \lim_{x \to b} \frac{1}{b-x} \int_{x}^{b} f(t)dt = f(b).$$

3. TRAPEZOID TYPE INEQUALITIES

In this section, we give an identity which use to assist us is proving our results as follows:

Lemma 7. Let $f : [a,b] \to \mathbb{R}$ be a differentiable mapping on (a,b) with a < b. If $f' \in L[a,b]$, then the following equality holds:

$$f(x) + \frac{f(a) + f(b)}{2} - \left[\frac{1}{x - a} \int_{a}^{x} f(t)dt + \frac{1}{b - x} \int_{x}^{b} f(t)dt\right]$$
(10)
= $\frac{(x - a)}{2} \int_{0}^{1} (1 - 2\lambda) f'(\lambda a + (1 - \lambda)x) d\lambda$
+ $\frac{(b - x)}{2} \int_{0}^{1} (1 - 2\lambda) f'(\lambda x + (1 - \lambda)b) d\lambda$

for $x \in [a, b]$ and $\lambda \in [0, 1]$.

Proof. Here, we apply integration by parts in integrals of right part of (10), and by using the change of the variable $t = \lambda a + (1 - \lambda)x$, then we have

$$F_1 = \int_0^1 (1 - 2\lambda) f'(\lambda a + (1 - \lambda)x) d\lambda = \frac{f(x)}{x - a} + \frac{f(a)}{x - a} - \frac{2}{(x - a)^2} \int_a^x f(t) dt.$$

And similarly, we obtain

$$F_2 = \int_0^1 (1 - 2\lambda) f'(\lambda x + (1 - \lambda)b) d\lambda = \frac{f(b)}{b - x} + \frac{f(x)}{b - x} - \frac{2}{(b - x)^2} \int_x^b f(t) dt.$$

If we add F_1 from F_2 and multiply by $\frac{(x-a)}{2}$ and $\frac{(b-x)}{2}$, respectively we obtain proof of the (10).

Remark 2. If in Lemma 7, we get x = a or x = b, then the identity (10) becomes the identity (2).

Corollary 8. Under assumption of Lemma 7, if we choose $x = \frac{a+b}{2}$, then the identity (10) reduces to

$$\frac{1}{2}\left[f\left(\frac{a+b}{2}\right) + \frac{f(a)+f(b)}{2}\right] - \frac{1}{b-a}\int_{a}^{b}f(t)dt$$
$$= \frac{(b-a)}{8}\int_{0}^{1}\left(1-2\lambda\right)f'\left(\lambda a + (1-\lambda)\frac{a+b}{2}\right)d\lambda$$

$$+\frac{(b-a)}{8}\int_{0}^{1} (1-2\lambda) f'\left(\lambda\frac{a+b}{2} + (1-\lambda)b\right) d\lambda.$$

Now, we extend some estimates of the right hand side of a Bullen type inequalities for functions whose first derivatives absolute values are convex as follows:

Theorem 9. Let $f : [a,b] \to \mathbb{R}$ be a differentiable mapping on (a,b) with a < b. If |f'| is convex on [a,b], then the following inequality holds:

$$\left| f(x) + \frac{f(a) + f(b)}{2} - \left[\frac{1}{x - a} \int_{a}^{x} f(t) dt + \frac{1}{b - x} \int_{x}^{b} f(t) dt \right] \right|$$
(11)
$$\leq \frac{(b - a)}{8} \left| f'(x) \right| + \frac{(x - a) \left| f'(a) \right| + (b - x) \left| f'(b) \right|}{8}$$

for $x \in [a, b]$.

Proof. Using Lemma 7 and the convexity of |f'|, we find that

$$\begin{aligned} \left| f(x) + \frac{f(a) + f(b)}{2} - \left[\frac{1}{x - a} \int_{a}^{x} f(t) dt + \frac{1}{b - x} \int_{x}^{b} f(t) dt \right] \right| \\ &\leq \frac{(x - a)}{2} \int_{0}^{1} |1 - 2\lambda| \left| f'(\lambda a + (1 - \lambda)x) \right| d\lambda \\ &+ \frac{(b - x)}{2} \int_{0}^{1} |1 - 2\lambda| \left| f'(\lambda x + (1 - \lambda)b) \right| d\lambda \\ &\leq \frac{(x - a)}{2} \int_{0}^{1} |1 - 2\lambda| \left[\lambda \left| f'(a) \right| + (1 - \lambda) \left| f'(x) \right| \right] d\lambda \\ &+ \frac{(b - x)}{2} \int_{0}^{1} |1 - 2\lambda| \left[\lambda \left| f'(x) \right| + (1 - \lambda) \left| f'(b) \right| \right] d\lambda \\ &= \frac{(x - a)}{2} \int_{0}^{\frac{1}{2}} (1 - 2\lambda) \left[\lambda \left| f'(a) \right| + (1 - \lambda) \left| f'(x) \right| \right] d\lambda \\ &+ \frac{(x - a)}{2} \int_{\frac{1}{2}}^{1} (2\lambda - 1) \left[\lambda \left| f'(a) \right| + (1 - \lambda) \left| f'(x) \right| \right] d\lambda \end{aligned}$$

$$+ \frac{(b-x)}{2} \int_{0}^{\frac{1}{2}} (1-2\lambda) \left[\lambda \left| f'(x) \right| + (1-\lambda) \left| f'(b) \right| \right] d\lambda$$

$$+ \frac{(b-x)}{2} \int_{\frac{1}{2}}^{1} (2\lambda-1) \left[\lambda \left| f'(x) \right| + (1-\lambda) \left| f'(b) \right| \right] d\lambda$$

$$= \frac{(b-a)}{8} \left| f'(x) \right| + \frac{(x-a) \left| f'(a) \right| + (b-x) \left| f'(b) \right|}{8}$$

which this completes the proof of the (11).

Remark 3. If in Theorem 9, we get x = a or x = b, then the inequality (11) becomes the inequality (3).

Corollary 10. Under assumption of Theorem 9, if we choose $x = \frac{a+b}{2}$, then the inequality (11) reduces to

$$\begin{aligned} \left| \frac{1}{2} \left[f\left(\frac{a+b}{2}\right) + \frac{f\left(a\right) + f\left(b\right)}{2} \right] - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right| \\ &\leq \frac{(b-a)}{16} \left[\left| f'\left(\frac{a+b}{2}\right) \right| + \frac{|f'\left(a\right)| + |f'\left(b\right)|}{2} \right] \\ &\leq \frac{(b-a)}{8} \left(\frac{|f'\left(a\right)| + |f'\left(b\right)|}{2} \right). \end{aligned}$$

Theorem 11. Let $f : [a, b] \to \mathbb{R}$ be a differentiable mapping on (a, b) with a < b. If $|f'|^q$ is convex on [a, b] for some q > 1, then the following inequality holds:

$$\left| f(x) + \frac{f(a) + f(b)}{2} - \left[\frac{1}{x - a} \int_{a}^{x} f(t) dt + \frac{1}{b - x} \int_{x}^{b} f(t) dt \right] \right|$$

$$\leq \frac{1}{2(p+1)^{\frac{1}{p}}} \left[(x - a) \left(\frac{|f'(a)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}} + (b - x) \left(\frac{|f'(b)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}} \right]$$
(12)

where $x \in [a, b]$ and $\frac{1}{p} + \frac{1}{q} = 1$.

Proof. Using Lemma 7, Hölder's inequality and the convexity of $|f'|^q$, we find that

$$f(x) + \frac{f(a) + f(b)}{2} - \left[\frac{1}{x - a} \int_{a}^{x} f(t)dt + \frac{1}{b - x} \int_{a}^{x} f(t)dt \right]$$

$$\leq \frac{(x-a)}{2} \int_{0}^{1} |1-2\lambda| \left| f'(\lambda a + (1-\lambda)x) \right| d\lambda + \frac{(b-x)}{2} \int_{0}^{1} |1-2\lambda| \left| f'(\lambda x + (1-\lambda)b) \right| d\lambda$$

$$\leq \frac{(x-a)}{2} \left(\int_{0}^{1} |1-2\lambda|^{p} d\lambda \right)^{\frac{1}{p}} \left(\int_{0}^{1} \left| f'(\lambda a + (1-\lambda)x) \right|^{q} d\lambda \right)^{\frac{1}{q}}$$

$$+ \frac{(b-x)}{2} \left(\int_{0}^{1} |1-2\lambda|^{p} d\lambda \right)^{\frac{1}{p}} \left(\int_{0}^{1} \left| f'(\lambda x + (1-\lambda)b) \right|^{q} d\lambda \right)^{\frac{1}{q}}$$

$$\leq \frac{(x-a)}{2(p+1)^{\frac{1}{p}}} \left(\int_{0}^{1} \left[\lambda \left| f'(a) \right|^{q} + (1-\lambda) \left| f'(b) \right|^{q} \right] d\lambda \right)^{\frac{1}{q}}$$

$$+ \frac{(b-x)}{2(p+1)^{\frac{1}{p}}} \left(\int_{0}^{1} \left[\lambda \left| f'(x) \right|^{q} + (1-\lambda) \left| f'(b) \right|^{q} \right] d\lambda \right)^{\frac{1}{q}}$$

$$= \frac{(x-a)}{2(p+1)^{\frac{1}{p}}} \left(\frac{|f'(a)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}} + \frac{(b-x)}{2(p+1)^{\frac{1}{p}}} \left(\frac{|f'(b)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}}$$

which this completes the proof of the (12).

Corollary 12. Under assumption of Theorem11, if we choose $x = \frac{a+b}{2}$, then the inequality (12) reduces to

$$\begin{aligned} & \left| \frac{1}{2} \left[f\left(\frac{a+b}{2}\right) + \frac{f\left(a\right) + f\left(b\right)}{2} \right] - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right| \\ & \leq \left. \frac{(b-a)}{8 \left(p+1\right)^{\frac{1}{p}}} \left[\left(\frac{|f'\left(a\right)|^{q} + |f'\left(\frac{a+b}{2}\right)|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{|f'\left(b\right)|^{q} + |f'\left(\frac{a+b}{2}\right)|^{q}}{2} \right)^{\frac{1}{q}} \right] \\ & \leq \left. \frac{(b-a)}{8 \left(p+1\right)^{\frac{1}{p}}} \left[\left(\frac{3 |f'\left(a\right)|^{q} + |f'\left(b\right)|^{q}}{4} \right)^{\frac{1}{q}} + \left(\frac{3 |f'\left(b\right)|^{q} + |f'\left(a\right)|^{q}}{4} \right)^{\frac{1}{q}} \right]. \end{aligned}$$

Remark 4. If in Theorem 11, we get x = a or x = b, then, the inequality (12) becomes the inequality (2.4) of Theorem 2.3 in [7].

4. MIDPOINT TYPE INEQUALITIES

Before starting and proving our next result, we need the following lemma.

Lemma 13. Let $f : [a,b] \to \mathbb{R}$ be a differentiable mapping on (a,b) with a < b. If $f' \in L[a,b]$, then the following equality holds:

$$f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[\frac{1}{x-a}\int_{a}^{x}f(t)dt + \frac{1}{b-x}\int_{x}^{b}f(t)dt\right] \quad (13)$$

$$= (x-a)\int_{0}^{\frac{1}{2}}\lambda\left[f'\left(\lambda x + (1-\lambda)a\right) - f'\left(\lambda a + (1-\lambda)x\right)\right]d\lambda$$

$$+ (b-x)\int_{\frac{1}{2}}^{1}\left(1-\lambda\right)\left[f'\left(\lambda x + (1-\lambda)b\right) - f'\left(\lambda b + (1-\lambda)x\right)\right]d\lambda$$

for $x \in [a, b]$.

Proof. In the proof of (13), we apply integration by parts, then we have

$$T_{1} = \int_{0}^{\frac{1}{2}} \lambda \left[f' \left(\lambda x + (1 - \lambda)a \right) - f' \left(\lambda a + (1 - \lambda)x \right) \right] d\lambda$$
$$= \frac{1}{(x - a)} f \left(\frac{a + x}{2} \right) - \frac{1}{(x - a)^{2}} \int_{a}^{x} f(t) dt$$
$$T_{2} = \int_{\frac{1}{2}}^{1} (1 - \lambda) \left[f' \left(\lambda x + (1 - \lambda)b \right) - f' \left(\lambda b + (1 - \lambda)x \right) \right] d\lambda$$
$$= \frac{1}{(b - x)} f \left(\frac{b + x}{2} \right) - \frac{1}{(b - x)^{2}} \int_{x}^{b} f(t) dt.$$

If we add T_1 from T_1 and multiply by (x - a) and (b - x), respectively we obtain proof of the identity (13).

Remark 5. If in Lemma 13, we take x = a or x = b then, the identity (13) becomes the identity (4).

Corollary 14. Under assumption of Lemma 13, if we choose $x = \frac{a+b}{2}$ the identity (13) reduces to

$$\begin{split} & \frac{1}{2} \left[f\left(\frac{3a+b}{4}\right) + f\left(\frac{3b+a}{4}\right) \right] - \frac{1}{b-a} \int_{a}^{b} f(t) dt \\ &= \frac{b-a}{4} \left\{ \int_{0}^{\frac{1}{2}} \lambda \left[f'\left(\lambda \frac{a+b}{2} + (1-\lambda)a\right) - f'\left(\lambda a + (1-\lambda)\frac{a+b}{2}\right) \right] d\lambda \\ &+ \int_{\frac{1}{2}}^{1} (1-\lambda) \left[f'\left(\lambda \frac{a+b}{2} + (1-\lambda)b\right) - f'\left(\lambda b + (1-\lambda)\frac{a+b}{2}\right) \right] d\lambda \right\}. \end{split}$$

Finally, we extend some estimates of the left hand side of a Bullen type inequalities for functions whose first derivatives absolute values are convex as follows:

Theorem 15. Let $f : [a,b] \to \mathbb{R}$ be a differentiable mapping on (a,b) with a < b. If |f'| is convex on [a,b], then the following inequality holds:

$$\left| f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[\frac{1}{x-a}\int_{a}^{x} f(t)dt + \frac{1}{b-x}\int_{x}^{b} f(t)dt\right] \right|$$

$$\leq \frac{(b-a)}{8} \left| f'(x) \right| + \frac{(x-a)\left| f'(a) \right| + (b-x)\left| f'(b) \right|}{8}$$
(14)

for $x \in [a, b]$.

Proof. From Lemma 13 and using the convexity of |f'|, then we have

$$\left| f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[\frac{1}{x-a}\int_{a}^{x} f(t)dt + \frac{1}{b-x}\int_{x}^{b} f(t)dt\right] \right|$$

$$\leq (x-a)\int_{0}^{\frac{1}{2}} \lambda \left[\left| f'\left(\lambda x + (1-\lambda)a\right) \right| + \left| f'\left(\lambda a + (1-\lambda)x\right) \right| \right] d\lambda$$

$$+ (b-x) \int_{\frac{1}{2}}^{1} (1-\lambda) \left[\left| f'(\lambda x + (1-\lambda)b) \right| + \left| f'(\lambda b + (1-\lambda)x) \right| \right] d\lambda$$

$$\leq (x-a) \left[\left| f'(x) \right| + \left| f'(a) \right| \right] \int_{0}^{\frac{1}{2}} \lambda d\lambda + (b-x) \left[\left| f'(x) \right| + \left| f'(a) \right| \right] \int_{\frac{1}{2}}^{1} (1-\lambda) d\lambda$$

$$= \frac{(b-a)}{8} \left| f'(x) \right| + \frac{(x-a) \left| f'(a) \right| + (b-x) \left| f'(b) \right|}{8}.$$

Remark 6. If in Theorem 15, we take x = a or x = b then, the inequality (14) reduces to the inequality (5).

Corollary 16. Under assumption of Theorem 15, if we choose $x = \frac{a+b}{2}$ the identity (14) reduces to

$$\begin{aligned} \left| \frac{1}{2} \left[f\left(\frac{3a+b}{4}\right) + f\left(\frac{3b+a}{4}\right) \right] - \frac{1}{b-a} \int_{a}^{b} f(t) dt \\ &\leq \frac{(b-a)}{16} \left[\left| f'\left(\frac{a+b}{2}\right) \right| + \frac{|f'(a)| + |f'(b)|}{2} \right] \\ &\leq \frac{(b-a)}{8} \left(\frac{|f'(a)| + |f'(b)|}{2} \right). \end{aligned}$$

Theorem 17. Let $f : [a,b] \to \mathbb{R}$ be a differentiable mapping on (a,b) with a < b. If $|f'|^q$ is convex on [a,b] for some q > 1, then the following inequality holds:

$$\left| f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[\frac{1}{x-a}\int_{a}^{x} f(t)dt + \frac{1}{b-x}\int_{x}^{b} f(t)dt\right] \right|$$

$$\leq \frac{1}{(1+p)^{\frac{1}{p}}2^{1+\frac{1}{p}}} \left\{ (x-a) \left[\left(\frac{|f'(x)|^{q} + |f'(a)|^{q}}{2}\right)^{\frac{1}{q}} + \left(\frac{|f'(a)|^{q} + |f'(x)|^{q}}{2}\right)^{\frac{1}{q}} \right]$$

$$+ (b-x) \left[\left(\frac{|f'(x)|^{q} + |f'(b)|^{q}}{2}\right)^{\frac{1}{q}} + \left(\frac{|f'(b)|^{q} + |f'(x)|^{q}}{2}\right)^{\frac{1}{q}} \right] \right\}$$

$$(15)$$

where $x \in [a, b]$ and $\frac{1}{p} + \frac{1}{q} = 1$.

Proof. From Lemma 13, Hölder's inequality and the convexity of $|f'|^q$, we find that

$$\begin{split} \left| f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[\frac{1}{x-a}\int_{a}^{x} f(t)dt + \frac{1}{b-x}\int_{x}^{b} f(t)dt\right] \right| \\ &\leq (x-a)\left(\int_{0}^{\frac{1}{2}} \lambda^{p} d\lambda\right)^{\frac{1}{p}} \\ &\times \left[\left(\int_{0}^{\frac{1}{2}} \left| f'\left(\lambda x + (1-\lambda)a\right) \right|^{q} d\lambda\right)^{\frac{1}{q}} + \left(\int_{0}^{\frac{1}{2}} \left| f'\left(\lambda a + (1-\lambda)x\right) \right|^{q} d\lambda\right)^{\frac{1}{q}} \right] \\ &+ (b-x)\left(\int_{\frac{1}{2}}^{1} (1-\lambda)^{p} d\lambda\right)^{\frac{1}{p}} \\ &\times \left[\left(\int_{\frac{1}{2}}^{1} \left| f'\left(\lambda x + (1-\lambda)b\right) \right|^{q} d\lambda\right)^{\frac{1}{q}} + \left(\int_{\frac{1}{2}}^{1} \left| f'\left(\lambda b + (1-\lambda)x\right) \right|^{q} d\lambda\right)^{\frac{1}{q}} \right] \\ &\leq \frac{(x-a)}{(1+p)^{\frac{1}{p}} 2^{1+\frac{1}{p}}} \left\{ \left(\int_{0}^{\frac{1}{2}} \left[\lambda \left| f'\left(x\right) \right|^{q} + (1-\lambda) \left| f'\left(a\right) \right|^{q} \right] d\lambda \right)^{\frac{1}{q}} \\ &+ \left(\int_{0}^{\frac{1}{2}} \left[\lambda \left| f'\left(a\right) \right|^{q} + (1-\lambda) \left| f'\left(x\right) \right|^{q} \right] d\lambda \right)^{\frac{1}{q}} \right\} \\ &+ \frac{(b-x)}{(1+p)^{\frac{1}{p}} 2^{1+\frac{1}{p}}} \left\{ \left(\int_{0}^{\frac{1}{2}} \left[\lambda \left| f'\left(x\right) \right|^{q} + (1-\lambda) \left| f'\left(b\right) \right|^{q} \right] d\lambda \right)^{\frac{1}{q}} \right\} \end{split}$$

$$+ \left(\int_{0}^{\frac{1}{2}} \left[\lambda \left| f'(b) \right|^{q} + (1 - \lambda) \left| f'(x) \right|^{q} \right] d\lambda \right)^{\frac{1}{q}} \right\}$$

$$\leq \frac{(x - a)}{(1 + p)^{\frac{1}{p}} 2^{1 + \frac{1}{p}}} \left[\left(\frac{|f'(x)|^{q} + |f'(a)|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{|f'(a)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}} \right]$$

$$+ \frac{(b - x)}{(1 + p)^{\frac{1}{p}} 2^{1 + \frac{1}{p}}} \left[\left(\frac{|f'(x)|^{q} + |f'(b)|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{|f'(b)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}} \right]$$

Remark 7. If in Theorem 17, we take x = a or x = b then, the inequality (15) reduces to the inequality (2.3) of Theorem 2.3 by Kirmaci in [11].

Corollary 18. Under assumption of Theorem 17, if we choose $x = \frac{a+b}{2}$ the inequality (15) reduces to

$$\begin{aligned} & \left| \frac{1}{2} \left[f\left(\frac{3a+b}{4}\right) + f\left(\frac{3b+a}{4}\right) \right] - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right| \\ & \leq \frac{(b-a)}{(1+p)^{\frac{1}{p}} 2^{3+\frac{1}{p}}} \left\{ \left[\left(\frac{\left| f'\left(\frac{a+b}{2}\right) \right|^{q} + \left| f'\left(a\right) \right|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{\left| f'\left(a\right) \right|^{q} + \left| f'\left(\frac{a+b}{2}\right) \right|^{q}}{2} \right)^{\frac{1}{q}} \right] \\ & + \left[\left(\frac{\left| f'\left(\frac{a+b}{2}\right) \right|^{q} + \left| f'\left(b\right) \right|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{\left| f'\left(b\right) \right|^{q} + \left| f'\left(\frac{a+b}{2}\right) \right|^{q}}{2} \right)^{\frac{1}{q}} \right] \right\} \\ & \leq \frac{(b-a)}{(1+p)^{\frac{1}{p}} 2^{2+\frac{1}{p}}} \left[\left(\frac{3 \left| f'\left(a\right) \right|^{q} + \left| f'\left(b\right) \right|^{q}}{4} \right)^{\frac{1}{q}} + \left(\frac{\left| f'\left(a\right) \right|^{q} + 3 \left| f'\left(b\right) \right|^{q}}{4} \right)^{\frac{1}{q}} \right]. \end{aligned}$$

5. SIMPSON TYPE INEQUALITIES

Before starting and proving our next result, we need the following lemma.

Lemma 19. Let $f : [a,b] \to \mathbb{R}$ be a differentiable mapping on (a,b) with a < b. If $f' \in L[a,b]$, then the following equality holds:

$$\frac{1}{3}\left[2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2}\right]$$
(16)

$$-\left[\frac{1}{x-a}\int_{a}^{x}f(t)dt + \frac{1}{b-x}\int_{x}^{b}f(t)dt\right]$$

= $(x-a)\int_{0}^{\frac{1}{2}}\left(\lambda - \frac{1}{6}\right)\left[f'\left(\lambda x + (1-\lambda)a\right) - f'\left(\lambda a + (1-\lambda)x\right)\right]d\lambda$
+ $(b-x)\int_{\frac{1}{2}}^{1}\left(\frac{5}{6} - \lambda\right)\left[f'\left(\lambda x + (1-\lambda)b\right) - f'\left(\lambda b + (1-\lambda)x\right)\right]d\lambda$

for $x \in [a, b]$.

Proof. In the proof of (16), we apply integration by parts, then we have

$$H_{1} = \int_{0}^{\frac{1}{2}} \left(\lambda - \frac{1}{6}\right) \left[f'(\lambda x + (1 - \lambda)a) - f'(\lambda a + (1 - \lambda)x)\right] d\lambda$$

$$= \frac{2}{3(x - a)} f\left(\frac{a + x}{2}\right) + \frac{1}{6(x - a)} \left[f(a) + f(x)\right] - \frac{1}{(x - a)^{2}} \int_{a}^{x} f(t) dt$$

$$H_{2} = \int_{\frac{1}{2}}^{1} \left(\frac{5}{6} - \lambda\right) \left[f'(\lambda x + (1 - \lambda)b) - f'(\lambda b + (1 - \lambda)x)\right] d\lambda$$

$$= \frac{2}{3(b - x)} f\left(\frac{b + x}{2}\right) + \frac{1}{6(x - a)} \left[f(a) + f(x)\right] - \frac{1}{(b - x)^{2}} \int_{x}^{b} f(t) dt.$$

If we add H_1 from H_1 and multiply by (x - a) and (b - x), respectively we obtain proof of the identity (16).

Remark 8. If in Lemma 19, we take x = a or x = b then, the identity (16) becomes the identity (4) of Lemma 1 by Alomari et. al. in [1] for s = 1.

Corollary 20. Under assumption of Lemma 19, if we choose $x = \frac{a+b}{2}$ the identity (16) reduces to

$$\frac{1}{6}\left[4f\left(\frac{3a+b}{4}\right)+4f\left(\frac{3b+a}{4}\right)+f\left(\frac{a+b}{2}\right)+\frac{f(a)+f(b)}{2}\right]-\frac{1}{b-a}\int\limits_{a}^{b}f(t)dt$$

$$= \frac{b-a}{4} \left\{ \int_{0}^{\frac{1}{2}} \left(\lambda - \frac{1}{6}\right) \left[f'\left(\lambda \frac{a+b}{2} + (1-\lambda)a\right) - f'\left(\lambda a + (1-\lambda)\frac{a+b}{2}\right) \right] d\lambda + \int_{\frac{1}{2}}^{1} \left(\frac{5}{6} - \lambda\right) \left[f'\left(\lambda \frac{a+b}{2} + (1-\lambda)b\right) - f'\left(\lambda b + (1-\lambda)\frac{a+b}{2}\right) \right] d\lambda \right\}.$$

Finally, we extend some estimates of the Simpson type inequalities for functions whose first derivatives absolute values are convex as follows:

Theorem 21. Let $f : [a,b] \to \mathbb{R}$ be a differentiable mapping on (a,b) with a < b. If |f'| is convex on [a,b], then the following inequality holds:

$$\left|\frac{1}{3}\left[2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2}\right]$$
(17)
$$-\left[\frac{1}{x-a}\int_{a}^{x}f(t)dt + \frac{1}{b-x}\int_{x}^{b}f(t)dt\right]\right|$$
$$\leq \frac{5(b-a)}{72}\left|f'(x)\right| + \frac{5(x-a)\left|f'(a)\right| + 5(b-x)\left|f'(b)\right|}{72}$$

for $x \in [a, b]$.

Proof. From Lemma 19 and using the convexity of |f'|, then we have

$$\begin{aligned} \left| \frac{1}{3} \left[2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2} \right] - \left[\frac{1}{x-a} \int_{a}^{x} f(t)dt + \frac{1}{b-x} \int_{x}^{b} f(t)dt \right] \\ \leq & (x-a) \int_{0}^{\frac{1}{2}} \left| \lambda - \frac{1}{6} \right| \left[|f'(\lambda x + (1-\lambda)a)| + |f'(\lambda a + (1-\lambda)x)| \right] d\lambda \\ & + (b-x) \int_{\frac{1}{2}}^{1} \left| \frac{5}{6} - \lambda \right| \left[|f'(\lambda x + (1-\lambda)b)| + |f'(\lambda b + (1-\lambda)x)| \right] d\lambda \\ \leq & (x-a) \left[|f'(x)| + |f'(a)| \right] \int_{0}^{\frac{1}{2}} \left| \lambda - \frac{1}{6} \right| d\lambda + (b-x) \left[|f'(x)| + |f'(a)| \right] \int_{\frac{1}{2}}^{1} \left| \frac{5}{6} - \lambda \right| d\lambda \end{aligned}$$

$$= \frac{5(b-a)}{72} |f'(x)| + \frac{5(x-a)|f'(a)| + 5(b-x)|f'(b)|}{72}.$$

Remark 9. If in Theorem 21, we take x = a or x = b then, the inequality (17) reduces to the inequality (2.2) of Theorem 2.1 by Sarikaya et. al. in [20].

Corollary 22. Under assumption of Theorem 21, if we choose $x = \frac{a+b}{2}$ the identity (17) reduces to

$$\begin{aligned} \left| \frac{1}{6} \left[4f\left(\frac{3a+b}{4}\right) + 4f\left(\frac{3b+a}{4}\right) + f\left(\frac{a+b}{2}\right) + \frac{f(a)+f(b)}{2} \right] - \frac{1}{b-a} \int_{a}^{b} f(t)dt \right| \\ &\leq \left| \frac{5\left(b-a\right)}{144} \left[\left| f'\left(\frac{a+b}{2}\right) \right| + \frac{\left| f'\left(a\right) \right| + \left| f'\left(b\right) \right|}{2} \right] \right] \\ &\leq \left| \frac{5\left(b-a\right)}{72} \left(\frac{\left| f'\left(a\right) \right| + \left| f'\left(b\right) \right|}{2} \right). \end{aligned}$$

Theorem 23. Let $f : [a,b] \to \mathbb{R}$ be a differentiable mapping on (a,b) with a < b. If $|f'|^q$ is convex on [a,b] for some q > 1, then the following inequality holds:

$$\left| \frac{1}{3} \left[2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2} \right] - \left[\frac{1}{x-a} \int_{a}^{x} f(t)dt + \frac{1}{b-x} \int_{x}^{b} f(t)dt \right] \right|$$

$$\leq \frac{1}{(1+p)^{\frac{1}{p}}} \left[\frac{1}{3^{p+1}} + \frac{1}{6^{p+1}} \right]^{\frac{1}{p}} \\
\times \left\{ (x-a) \left[\left(\frac{|f'(x)|^{q} + |f'(a)|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{|f'(a)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}} \right] \\
+ (b-x) \left[\left(\frac{|f'(x)|^{q} + |f'(b)|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{|f'(b)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}} \right] \right\}$$
(18)

where $x \in [a, b]$ and $\frac{1}{p} + \frac{1}{q} = 1$.

Proof. From Lemma 19, Hölder's inequality and the convexity of $|f'|^q$, we find that

$$\left|\frac{1}{3}\left[2f\left(\frac{a+x}{2}\right)+2f\left(\frac{b+x}{2}\right)+f(x)+\frac{f(a)+f(b)}{2}\right]-\left[\frac{1}{x-a}\int\limits_{a}^{x}f(t)dt+\frac{1}{b-x}\int\limits_{x}^{b}f(t)dt\right]\right|$$

$$\leq (x-a) \left(\int_{0}^{\frac{1}{2}} \left| \lambda - \frac{1}{6} \right|^{p} d\lambda \right)^{\frac{1}{p}} \\ \times \left[\left(\int_{0}^{\frac{1}{2}} \left| f'(\lambda x + (1-\lambda)a) \right|^{q} d\lambda \right)^{\frac{1}{q}} + \left(\int_{0}^{\frac{1}{2}} \left| f'(\lambda a + (1-\lambda)x) \right|^{q} d\lambda \right)^{\frac{1}{q}} \right] \\ + (b-x) \left(\int_{\frac{1}{2}}^{1} \left| \frac{5}{6} - \lambda \right|^{p} d\lambda \right)^{\frac{1}{p}} \\ \times \left[\left(\int_{\frac{1}{2}}^{1} \left| f'(\lambda x + (1-\lambda)b) \right|^{q} d\lambda \right)^{\frac{1}{q}} + \left(\int_{\frac{1}{2}}^{1} \left| f'(\lambda b + (1-\lambda)x) \right|^{q} d\lambda \right)^{\frac{1}{q}} \right] \right] \\ \leq \frac{1}{(1+p)^{\frac{1}{p}}} \left[\frac{1}{3^{p+1}} + \frac{1}{6^{p+1}} \right]^{\frac{1}{p}} \left\{ (x-a) \left[\left(\int_{0}^{\frac{1}{2}} \left[\lambda |f'(x)|^{q} + (1-\lambda) |f'(x)|^{q} \right] d\lambda \right)^{\frac{1}{q}} \right] \right\} \\ + \left(b-x \right) \left[\left(\int_{0}^{\frac{1}{2}} \left[\lambda |f'(x)|^{q} + (1-\lambda) |f'(x)|^{q} \right] d\lambda \right)^{\frac{1}{q}} \right] \right\} \\ + \left(b-x \right) \left[\left(\int_{0}^{\frac{1}{2}} \left[\lambda |f'(x)|^{q} + (1-\lambda) |f'(x)|^{q} \right] d\lambda \right)^{\frac{1}{q}} \right] \right\} \\ \leq \frac{1}{(1+p)^{\frac{1}{p}}} \left[\frac{1}{3^{p+1}} + \frac{1}{6^{p+1}} \right]^{\frac{1}{p}} \\ \times \left\{ (x-a) \left[\left(\frac{|f'(x)|^{q} + |f'(a)|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{|f'(a)|^{q} + |f'(x)|^{q}}{2} \right)^{\frac{1}{q}} \right] \right\}$$

Remark 10. If in Theorem 23, we take x = a or x = b then, the inequality (18) reduces to the inequality (2.3) of Theorem 2.3 by Sarikaya et. al. in [20].

Corollary 24. Under assumption of Theorem 23, if we choose $x = \frac{a+b}{2}$ the inequality (18) reduces to

$$\begin{aligned} \left| \frac{1}{6} \left[4f\left(\frac{3a+b}{4}\right) + 4f\left(\frac{3b+a}{4}\right) + f\left(\frac{a+b}{2}\right) + \frac{f(a)+f(b)}{2} \right] - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right| \\ &\leq \frac{(b-a)}{2\left(1+p\right)^{\frac{1}{p}}} \left[\frac{1}{3^{p+1}} + \frac{1}{6^{p+1}} \right]^{\frac{1}{p}} \\ &\times \left[\left(\frac{\left| f'\left(\frac{a+b}{2}\right) \right|^{q} + \left| f'\left(a\right) \right|^{q}}{2} \right)^{\frac{1}{q}} + \left(\frac{\left| f'\left(\frac{a+b}{2}\right) \right|^{q} + \left| f'\left(b\right) \right|^{q}}{2} \right)^{\frac{1}{q}} \right] \\ &\leq \frac{(b-a)}{2\left(1+p\right)^{\frac{1}{p}}} \left[\frac{1}{3^{p+1}} + \frac{1}{6^{p+1}} \right]^{\frac{1}{p}} \\ &\times \left[\left(\frac{3\left| f'\left(a\right) \right|^{q} + \left| f'\left(b\right) \right|^{q}}{4} \right)^{\frac{1}{q}} + \left(\frac{\left| f'\left(a\right) \right|^{q} + 3\left| f'\left(b\right) \right|^{q}}{4} \right)^{\frac{1}{q}} \right]. \end{aligned}$$

References

[1] M. Alomari, M. Darus and S.S. Dragomir, New inequalities of Simpson's type for s-convex functions with applications, RGMIA Res. Rep. Coll., 12 (4), (2009), Article 9.

[2] M. Cakmak, On some Bullen-type inequalities via conformable fractional integrals, Journal of Scientific Perspectives, 3(4), 285-298, 2019.

[3] M. Cakmak, The differentiable h-convex functions involving the Bullen inequality, Acta Universitatis Apulensis, No. 65/2021, pp. 29-36.

[4] T. Du, C. Luo and Z. Cao, On the Bullen-type inequalities via generalized fractional integrals and their applications, Fractals, 29(7), 2150188-718, 2021.

[5] S. S. Dragomir, R.P. Agarwal and P. Cerone, On Simpson's inequality and applications, J. of Inequal. Appl., 5(2000), 533-579.

[6] S.S. Dragomir, C.E.M. Pearce, *Selected topics on Hermite-Hadamard inequalities and applications*, RGMIA Monographs, Victoria University, 2000.

[7] S. S. Dragomir and R.P. Agarwal, Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula, Appl. Math. lett., 11(5) (1998), 91-95. [8] J. Hadamard, Etude sur les proprietes des fonctions entieres et en particulier d'une fonction considree par, Riemann, J. Math. Pures. et Appl. 58 (1893), 171-215.

[9] S. Hussain and S. Qaisar, More results on Simpson's type inequality throug hconvexity for twice differentiable continuous mappings. Springer Plus (2016), 5:77.

[10] H. Kavurmaci, A. O. Akdemir, E. Set and M. Z. Sarikaya, Simpson's type inequalities for m-and (α, m) -geometrically convex functions, Konuralp Journal of Mathematics, 2(1), pp:90-101, 2014.

[11] U. S. Kirmaci, Inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula, Applied Mathematics and Computation 147 (2004) 137–146.

[12] B.Z. Liu, An inequality of Simpson type, Proc. R. Soc. A, 461 (2005), 2155-2158.

[13] M. A Noor, K. I. Noor and M. U. Awan, A new Hermite-Hadamard type inequality for h-convex functions, Creative Mathematics and Informatics, 24, 191-197, (2015).

[14] J. Pecaric., and S. Varosanec, A note on Simpson's inequality for functions of bounded variation, Tamkang Journal of Mathematics, Volume 31, Number 3, Autumn (2000), 239–242.

[15] J. Pecaric, F. Proschan and Y.L. Tong, *Convex functions, partial ordering and statistical applications*, Academic Press, New York, 1991.

[16] M. Z. Sarikaya and N. Aktan, On the generalization of some integral inequalities and their applications, Mathematical and computer Modelling, 54(9-10), 2175-2182, 2011.

[17] M. Z. Sarikaya and S. Bardak, *Generalized Simpson type integral inequalities*, Konuralp Journal of Mathematics, 7 (1) (2019) 186-191.

[18] M.Z. Sarikaya, E. Set, M.E. Ozdemir, On new inequalities of Simpson's type for convex functions, RGMIA Res. Rep. Coll. 13 (2) (2010) Article2.

[19] M. Z.Sarikaya, E. Set and M. E. Ozdemir, On new inequalities of Simpson's type for functions whose second derivatives absolute values are convex, J. of Appl. Math. Statistics and Informatics, 9 (2013), No. 1.

[20] M. Z. Sarikaya, E. Set and M. E. Ozdemir, On new inequalities of Simpson's type for s-convex functions, Computers and Mathematics with Applications, 60 (2010) 2191-2199.

[21] S. Qaisar, C.J. He, S. Hussain, A generalizations of Simpson's type inequality for differentiable functions using (α, m) -convex functions and applications, J. Inequal. Appl. 2013 (2013) 13. Article 158.

[22] K. L. Tseng, G. S. Yang and S.S. Dragomir, *On weighted Simpson type inequalities and applications*, Journal of mathematical inequalities, Vol. 1, number 1 (2007), 13-22. [23] N. Ujevic, *Double integral inequalities of Simpson type and applications*, J. Appl. Math. Comput., 14 (2004), no:1-2, p. 213-223.

Mehmet Zeki Sarıkaya Department of Mathematics, Faculty of Science and Arts, Düzce University, Düzce, Türkiye email: sarikayamz@gmail.com